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kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? kN/m?
1 2 125.01 1.00 100.00 1.00 12.47 2.33
2 3 122.35 1.00 100.00 1.00 13.70 2.56
3 4 128.48 1.00 100.00 1.00 13.70 2.56
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kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? kN/m?

1 2 128.19 1.00 100.00 1.00 12.12 2.26
2 3 128.19 1.00 100.00 1.00 11.70 2.19
3 4 121.91 1.00 100.00 1.00 11.70 2.19
4 5 100.00 1.00 10.99 2.05
5 6 86.51 1.00 10.38 1.94
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kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 159.76 1.00 100.00 1.00 15.05 2.81
2 3 140.83 1.00 100.00 1.00 11.51 2.15
3 4 140.83 1.00 100.00 1.00 11.62 2.17
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